CONTRACT WORKSHEET 10773652

REPORT SL104 PAGE 1 RUN ON APR11/24 AT 12:26 FROM REP

LAWRENCE SWEATMAN WATERFRONT STRATEGIES 3050 K STREET NW - SUITE 100 WASHINGTON, DC 20007

ISS/HOUSE MAJORITY PAC HOUSE MAJORITY PAC OCT22/24- OCT28/24 TERESA DIFURIA

TYPE O CTG POLT 1WKS

EST ****

REP: NEW ORDER

TOTAL \$42,455 TOTAL SPOTS 94 PLS CFM THANKS JAMIE BARCI 04/11/24

AGENCY ORDER COMMENT: HMP 2024 - 10/22-10/28 - SKED A SEPARATION: 30

POPULATIONBUYTYPE: CPP

CON CM **** THIS IS A CASH IN ADVANCE SCHEDULE ****

HOUSE MAJORITY PAC

MOD & LINE#	DAYS	TIME	LEN	EFFECTIVE DATES	SEC CD	PER WK	RATE/SPOT	TOTAL	FLIGHT TOTAL
		VERTISER CODE = ODUCT CODE = 86		AGENCY ES	ST# =	13094			
1	TU-F,M	600A-700A	30	OCT22-OCT28		10	\$245.00	10	\$2,450.00
	PROGRAM :	KFOX MORNING	NEWS						
2	TU-F,M	700A-800A	30	OCT22-OCT28		10	\$265.00	10	\$2,650.00
	PROGRAM :	KFOX MORNING	NEWS						
3	TU-F,M	800A-900A	30	OCT22-OCT28		10	\$265.00	10	\$2,650.00
	PROGRAM :	KFOX MORNING	NEWS						
4	SUN	730A-800A	30	OCT27		1	\$45.00	1	\$45.00
	PROGRAM :	FULL MEASURE							
5	SUN	800A-900A	30	OCT27		1	\$180.00	1	\$180.00
	PROGRAM :	FOX NEWS SUND	AY						
6	TU-F,M	900A-1000A	30	OCT22-OCT28		5	\$165.00	5	\$825.00
	PROGRAM :	DAYTIME KIM &	#38; 1	ESTEBAN					

CONTRACT WORKSHEET 10773652

REPORT SL104 PAGE 2 RUN ON APR11/24 AT 12:26 FROM REP

MOD & LINE#	DAYS		TIME	LEN	EFFECTIVE DATES	SEC CD	PER WK	RATE/SPOT	TOTAL SPOTS	FLIGHT TOTAL
7	TU-F,M		1100A-1200N	30	OCT22-OCT28		5	\$200.00	5	\$1,000.00
	PROGRAM	:	PEOPLE'S COUR	Γ						
8	TU-F,M		100P-130P	30	OCT22-OCT28		5	\$165.00	5	\$825.00
	PROGRAM	:	HOT BENCH							
9	TU-F,M		130P-200P	30	OCT22-OCT28		5	\$165.00	5	\$825.00
	PROGRAM	:	HOT BENCH							
10	TU-F,M		300P-400P	30	OCT22-OCT28		5	\$140.00	5	\$700.00
	PROGRAM	:	FUNNY YOU SHOU	JLD AS	SK/ PERSON, P	LAC				
11	TU-F,M		400P-500P	30	OCT22-OCT28		5	\$275.00	5	\$1,375.00
	PROGRAM	:	FAMILY FEUD 22	X						
12	TU-F,M		500P-600P	30	OCT22-OCT28		5	\$530.00	5	\$2,650.00
	PROGRAM	:	KFOX NEWS AT 5	ōΡ						
13	MON		700P-800P	30	OCT28		1	\$660.00	1	\$660.00
	PROGRAM	:	9-1-1 LONE STA	AR						
14	TUE		700P-800P	30	OCT22		1	\$660.00	1	\$660.00
	PROGRAM	:	DOC							
15	THU		700P-800P	30	OCT24		1	\$770.00	1	\$770.00
	PROGRAM	:	HELL'S KITCHEN	Ŋ						
16	FRI		800P-900P	30	OCT25		1	\$660.00	1	\$660.00
	PROGRAM	:	HELL'S KITCHE	N ENC	ORE					
17	TU-F,M		900P-1005P	30	OCT22-OCT28		5	\$660.00	5	\$3,300.00
	PROGRAM	:	FOX NEWS @ NII	ΝE						
18	SAT		900P-935P	30	OCT26		1	\$550.00	1	\$550.00
	PROGRAM	:	LATE NEWS							

CONTRACT WORKSHEET 10773652

REPORT SL104 PAGE 3 RUN ON APR11/24 AT 12:26 FROM REP

MOD & LINE#	DAYS		TIME	LEN	EFFECTIVE DATES	SEC CD	PER WK	RATE/SPOT	TOTAL SPOTS	FLIGHT TOTAL
19	SUN		900P-1000P	30	OCT27		1	\$660.00	1	\$660.00
	PROGRAM	:	LATE NEWS							
20	SAT		935P-1005P	30	OCT26		1	\$135.00	1	\$135.00
	PROGRAM	:	IN DEPTH WITH	GRAHA	AM B					
21	SAT		1105P-1135P	30	OCT26		1	\$90.00	1	\$90.00
	PROGRAM	:	TWO AND A HALE	MEN						
22	SAT		1135P-1205A	30	OCT26		1	\$90.00	1	\$90.00
	PROGRAM	:	TWO AND A HALE	F MEN						
23	SAT		1205A-1235A	30	OCT26		1	\$90.00	1	\$90.00
	PROGRAM	:	FAMILY GUY							
24	SAT		1235A-105A	30	OCT26		1	\$45.00	1	\$45.00
	PROGRAM	:	FAMILY GUY							
25	SUN		1000P-1030P	30	OCT27		1	\$110.00	1	\$110.00
	PROGRAM	:	FULL MEASURE							
26	SUN		1030P-1100P	30	OCT27		1	\$135.00	1	\$135.00
	PROGRAM	:	BIG BANG THEOF	RΥ						
27	SUN		1100P-1130P	30	OCT27		1	\$180.00	1	\$180.00
	PROGRAM	:	BIG BANG THEOF	RY						
28	SUN		1130P-1200M	30	OCT27		1	\$155.00	1	\$155.00
	PROGRAM	:	MODERN FAMILY							
29	SUN		1200M-100A	30	OCT27		1	\$90.00	1	\$90.00
	PROGRAM	:	MODERN FAMILY	2X						
30	SAT		1000A-130P	30	OCT26		1	\$1,500.00	1	\$1,500.00
	PROGRAM	:	BIG NOON SATUR	RDAY						

CONTRACT WORKSHEET 10773652

REPORT SL104 PAGE 4 RUN ON APR11/24 AT 12:26 FROM REP

MOD & LINE#	DAYS	TIME	LEN_	EFFECTIVE DATES	SEC CD	PER WK	RATE/SPOT	TOTAL SPOTS	FLIGHT TOTAL	
31	SAT	130P-200P	30	OCT26		1	\$400.00	1	\$400.00	
	PROGRAM :	COLLEGE FTBL X	TRA-D	AY						
32	SAT	130P-530P	30	OCT26		1	\$1,300.00	1	\$1,300.00	
	PROGRAM :	FOX COLLEGE FT	BL-DA	ΛY						
33	SUN	1000A-1100A	30	OCT27		1	\$2,200.00	1	\$2,200.00	
	PROGRAM :	FOX NFL SUNDAY								
34	SUN	200P-230P	30	OCT27		1	\$2,500.00	1	\$2,500.00	
	PROGRAM :	NFL EARLY POST	-GAME	1						
35	SUN	225P-530P	30	OCT27		1	10000.00	1	10000.00	
	PROGRAM :	NFL LATE GAME								
OCT/24	41795.0	0 NOV/24 \$	660.0	0					CONTRACT TOTAL TOTAL SPOTS	42455.00 94

MARKET TOTALS \$202,166 KFOX 21% KVIA 28% KDBC 35% KTSM 14% KZIA 0% KKWB 0% KINT 0% CABL 0% NVIA 2%

SVC- NSI DEMOS- RA35+*

MOD CODE A-ADD B-BUY TYPE C-CANCELLED DE-DELETE E-EFF DATES L-LENGTH M-MAKEGOOD N-PROGRAM NAME P-CLASS, PLAN, SECT Q-PAID PGM R-RATE S-SPOTS PER WEEK T-TIME X-LATE Y-DAYS Z-COMMENTS *-MULTIPLE